RS

(PC) 5—=2F RAR—ZX PC

T ==V P A=A PC LiE, #HE, BHLUSMNCEHR SN PCRREEE L, v 7
FA T hOHFHERW, TV = ar, X2 VT A DA TS U AN, HEE
B2 ZE LT~ AT LARE 2T TV 5,

ARSI

(1) #AZ= v /A
©  OS Bl BRIEAERHERS

a.

F—=2 7 22— 2 (Mac)

0SAlE SR MEMRMERE (5—=2J ARX—AKMac)
1,500
1,000
500 - ® MacOS
0 _
48 5H 6H 7A 8A 94 104 114 124 18 28 3A
M 1:I9—=r 7 A_—2(Mac) O0S BIEEBIEELERIHER
b. XEfEFE PC
OSHIE BN HHRE (KEEER)
8,000
6,000
I = Win8
4,000 .
B Win7EN
2,000 - m = Win7JP
o -
4H 5 6A 7H 8H 9A 10H 114 124 1A 2H 34

X 2: MRXEAEER PC 05 BB EERHR




C.

A

— Y —iik PC

1,500

1,000 -

500 -

OSHIEB RIS ERHERE (2 —V—HK)

45 54 64 75 88 9H 10H 114 127 1H 2H 3H

5 Win8
B Win7EN
B Win7JP

B 3: A—PF—HEPC 0S HIEBEILEHHERE

d u—L79YPC
OSHIEBIEIEFER#SE (Fu—LT7 T Y)
600
400
200 = Win8
0 ; ; ; ; ; ; . . .
44 B5H 6H T7H 8H 9H 10H 11H 12H 1H 2H 3H

X 2:#& 7 — LS5 u P PC 08 BB BRI HER

©  ZE=hE B HHERS

160

BRI I B R ] SRR

140

120 ~
100 -
80 -
60 -
40 ~
20 ~

BT —= T AR—2R
(Mac)

m [ A R

N A—P—H

B a—nR LSy

B 3 : MR v X REER| IR B R R RS




(2) . BEFx ¥ /R A
©  OS Bl BRIEAERHERS

a.

[ 4 7% PO

OSHIZEN AR L (KEMEER)
8,000
6,000
= Win8
4,000 1 B Win7EN
2,000 1 = Win7JP
0
43 5A 6H 7H 8A 9H 104 11H 124 1A 2A 3H
X 6 : FEXKEMETHPC 0S JEEEBERHE
b. ZE— L5 PC
OSHIEBIRIEMHERE (Frn—1- VT T D)
40
30
20 ® Win8
10
0 T T T T T T T T T
4H B5H 6H T7H 8H 9H 10H 11H 12H 1H 2H 3H4

K 7:8BETa—"L5 P PC 0S BB EIBERHEL

©  ZE=hE B HHERS

200

=R I B R R AR IR

150
100 -
50 -

m XA R

B a— LTy

41 55 64 TH 8H 94 10H11H12H 14 2/ 3H

B 8 : BT v o/ N R B R B R HER




3. 20144FEEDE LD
FIFRIIZOWTIE., WEHB TOFANRELL o TWA Z LB TX 5,
B 08 DRIV TIE, 7= A =2 —OfRIC £ B BN RE <, 2—YREN
LTERLTWARWI ENEETE 5,
BESIRITICB T, BWFIHRE - TEY, BlXE
LTWSBERD D,

iy

=

LT LT —E R 2t



